
All chemistry is fundamentally 
electrical in nature
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Lewis structures

Atoms form chemical bonds by combining such number of 
electrons that allows them to obtain an electron configuration 
of noble elements 
● Hydrogen binds into a molecule resulting in the electron 
configuration of helium (1s2) 
● Oxygen combines into a molecule with the electron 
configuration of argon (...3s23p6). Each atom now has 8 
electrons.
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Some general rules to work out Lewis structures.

Outer atoms have 8 electrons in its outer shell (except hydrogen, it 
should have two). This is done by using single, double, or triple 
bonds, it also could be + or – charges.
If the central atom is from period 2 it should have no more than 8 
electrons in its outer shell. It should have a noble gas configuration 
(not always).
If the central atom is from period 3 it may have up to 18 electrons in 
its outer shell.


